4.2 Exercises
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4.3 Concepts and Vocabulary (page 339)

10. True

5. y=1 6 x=—1 7 proper 8. False 9. True

4.3 Exercises (page 339)

11. All real numbers except 3; {x|x # 3}
13. All real numbers except 2 and —4; [x|x#2,x# 4} 1 (1 1
{.! l ¥ * _11 16. All real numbers except ?;imd -2, 4‘ x|x # 73X # —2}

x|x # =3}

. All real numbers except =3 {
e t—3and4; {x|x # =3, x #4}

14. All real numbers excep
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17. All real numbers except 2; {x|x # 2} ‘lﬂ. All real numbers except —1 and I {xjx # =1, x # 1} .l.l), All real numbers
20. All real numbers 21. All real numbers except Jand 3; {x|x # 3, x 7 3y 22, All real numbers except —2; {x|x # -2}
23, () Domain: [xix # 2} Range: ply # 1} ®) (0.0) (@ y =1 @ &= 2 (e) None

24, (a) Domain: [xx # — 1}; Range: b1y > 0] () (0.2) (@) y =0 (D 1 (e) None

25. (a) Domain: [x|x # 0}; Range: all real numbers () (~1,0),(1.0) (c) None ) x =0
=2} (b) None (¢} None (d) x =0 (e)y _x

1
15. All real numbers except — 5 and 3;

(e) vy = 2x

26. (a) Domain: [x|x # 0); Range: {y|y = 2, y=2 q ] |
27. (a) Domain: [x]x # —2, x # 2}; Range: [y|y = 0,y > 1} (b) (0.0) (© y=1 (d)«x 2 x =2 (e) None
28. (a) Domain: {x|x # —1, x # 1}; Range: All real numbers  (b) (0,0) (€} ¥ = 0 (d) x l.x=1 (e) None
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ANSWERS 4.4 Exercises

1y = 3;vertical asymptote: x =
43. No asymptotes 44. Vertical asymptot

45. Horizontal asymptot vertical wptotes: x = 1, x = —1 46. Vertical asymptot
47. Horizontal asymptote: y = 0; vert

-4 42, Horizontal asymptote: y = 3; vertical asymptote: x = 6
5; oblique asymptote: y = —x

al asymptote: x 48, Horizontal asymptote: y = (; vertical asymptotes: x =

49. Oblique asymptote: y = 3x; vertical asymptote: x = 0

50. Horizontal asymptote: y = rtical asymptotes: x = — Fh

51. Oblique asymptote: y = —(x + 1): vertical asymptote: x = 0 . Horizontal asymptote: y vertical asymptotes x =
. (a) 9.8209 m/sec’ (b) 9.8195 m/sec’ 54. (a) (b) Approximately 596
(¢) 9.7936 m/sec® (d) h-axis (c) 2500




